S5 -6EE ARMEEH

A (1444 8 (2 REERI)

AERE| BIAS Mtk 5| & | & oA EEREH e S8 B
& E HeH 2 EE 3|7]|10]|7 At ER 13R¢~ 16K 2,000 EIVES £
#E Lo o|5|5|4| D2FEE |lom~128| 1500 |smllsm
WHE e 3|4 5| #2-4+EBE |14B~168| 2,500 |Hl5om=
WRE bo5RDOE 0|7 6 H2AMER IR~ 120 1,000 EINES o
EC 10 FERS VT4 7 RLUFEUROS 0121212 $2-4KEH IR~ 120 — EIVES £
Jil #0 RE ) s 21464 IR 13k~ 150 200 EIVES £
48 W BREEHL 2|3|5]|3 $H3LEH 13H~ 158 500 EINES
Eiilsd ERERS 3|13|6/|6 B KER 10B~ 125 500 gl2awm=
H& Eif KER 0|7]|71|6 EEkER 13H~ 165 3,000 £1348=
&8 AT h—=1— 716 (|13[11 B KER 13H~ 158 3,000 KEWE
&8 LA hS— 0[8|8|8| #-38m@E |108~I128| 2,000 |k&H=
vy 2Ry veyvy 2|8 |10| 8| #2-4R@A |158~178| 2,300 |[k&@m=
HSAY LEPTEEHE 14|55 mEAmE | 15R~18R| 3,000 |#I54E=
HSH Y LESWEHERRSLEI—A o776 FELEA 13/~ 16k 2,500 FISLHE=E
AHYF AHVF D& 0|6|6|6| mamkma |138~158| 3,000 |B5am=
=ikig FUE=RRSE o777 ml23xmE |198~218| 1500 |m234m=

e [ranos 2|s|7|7| BLEZ3EMA | og~1om | 3500 (FIZZEE
Yya—#— |(Ya—F—=7 yrIn 0 |12]12 | 11 | %81-3EELMEH | 128~ 158 500 EIRES £
3= I=ETROL 0(20|20]|11 H4KEH IFF~ 125 1,000 H232WE
i FrVIL 06|65 #-2-4kBH |138~158| 2,500 |Bll&H=
B —Irv |REY—TvY 25T 3|10[13]13 %ggﬁ@iggﬁ 138~168| 300 g}}é@%
FHE EEFEOR 3 ]20(|23|21 EH KRR 198 ~210¢ | 443,000 |$2348=
RyFU—2 |HwEXVN—20 HHR 0|6|6]|4 $£2-4&@H | 13k~ 16H 3,500 |BIIRR=E
AR EEAEE TS 1(7]|8]8 EEKER 13W~ 150 3,000 $23&E=E
o REVEREFS 0 (24|24 24| $81.2.3.4LMH | 198 ~21F¥F 200 $2348
aH AHY—2 o[8|s|s SEAEE | 10B~128| 2,000 |®224E=
RITTHVA |BEAI LT HYAY5T 4(20|24|16| @EKRE |108~128| 1,000 |B234/m=
VIRV ATy TREVIZ VA 0|17|17]|17 EH&GER 13M¢~ 150 2,000 RERE
VIRV BEV XV ASRE 0|55 4 EH&GER 13k~ 15/ 3,000 $23&E=E
AR RETA— I HVAI5T 1|19|20] 10 B|AAMA 10B:~128% | 1,500 |&B234@m=
2SYYINVE (V22T I5Yy NV T o[8|8|s HHESEA | 15B~18BF | 4,000 |®23sE=
SR R SELRE S S AL AR SRS 32|16 (48|42 | #1-3KEH 198¢~218¢ | 3,500(4EM)) |B1IXR=E

fi & 15 BEAEE KVFoEE 8|8|16]13 ggiﬂ%g 10B~128| 2,500 igg%
&8 REGIBH 623 10|20 (30|27 EEKER 14R~160F 2,000 REME
& 18 T I—5 A 0[14]|14|14| #1-2-3KkEA | 14B~168| 3,000 [W3sm=
& 18 ¥—2) POES 2|10|12| 9| #B2-4aemE | 158~178¢| 1,000 [W3L@x
P24 aloalo?7 0|5 4 £81-3KER 138~ 150 1,000 FE2&M=
BHE BERFS 6 6 | BAS4RmEA | 9R~128 2,500 WHEEY=
EV e =Y 0 6 | #1-2-3KkEH | 108~118¢| 3,000 |[Blam=
aj V< IR EZ | 0 |26(26]|26 $1-3kER 10/ ~120% 2,000 REME

sk (NS [ NS HTeINSE o12]12 glemEn | lo~18| EEOY  [mome
I5%vA  [euFan 0 $1-2.-3KEEA | 10B~128| 2,000 [W3sM=
TSHVA Pua alo alo 0 $2-4&EH 138~ 150 2,300 FE3sM=
VILyYathl |V 7Ly otk o|17|17]17| #1-3+mE |10m~128¢| 1,000 |kam=
P = B 5(12(17|16 | ##A-KEH |13RK~168 1,500 CEY
i = RS 8| 7|15 1 |m-2-3-a0mm 19813 1000 |z
LES Wks57 6|7 |13|12| ZREL2AEE | 13RI 1000  |mmAr
&8 EFABEEI—IN—E=— |10 (20|30(20| EHLEME 1RO 5000 |FHER
=ik HXHDE 05|55 ®2-3-4kEE |138~158| 3,500 |[B1¥Ex

L e T —2 0|2l]21]2l| @EABH | 0B~128| 414,000 |A&a%
iz KIEKRI5T 1|27|28]28 HEXEH 10~ 12 | 4F4#610,000 | A4
&Kh VEbh& 1|5|6]|5 kR 20~ 221 3,000 BIFTE




